> T UuUupy L ENTIRE
STATISTICS & PROBABILITY ASSIGNMENT

If t is the standard deviation of x, y, z, then the standard deviation of x
+5,y+5z+5is
X, y, z eigid  elaujmiseflanl S Lalevdsd t aafled x +5,y+5,z+5 ai
S L alevdsld

t

a. 3 b.t+5 c.t d. xyz

The variance of 10, 10, 10, 10, 10 is
10, 10, 10, 10, 10 erei3  elleugsr et allevdd euTds Fyme?
a. 10 b. V10 c5 d. 0

Mean and standard deviation of a data are 48 and 12 respectively. The

co-efficient of variation is.

@  eleugshdHler  ggmam  wBLBID  FHLelevdsd 48  oBmid 12 elefled
SjelaleugsHalen LomT@IUTL (B ©a .

a. 42 b. 25 c.28 d. 48

40, 42, 48. If each value is multiplied by 3, find the standard deviation
of the new data?

40, 42, 48 ea@ib Brlieell  alleugsHdHenn  @elGeurr  WAHD 3 SLe0
CupSSILBL CuTEH HMLEHGHD UHW wHlLSSTer HiLalevdsld

a. —‘1304 b. V132 C. V104 d. none of these

The Range of the first 10 prime numbers is
W0 10 LeT elewibela aiFdH

a. 28 b. 26 c.29

Probability of sure event is
© mIHwinenr HaFFuler HHDHH
a. 1 b. 100 c.0.1
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Find the median of the data 12, 14, 25, 23, 18, 17, 24, 20.
12,14, 25, 23,18, 17, 24, 20 aietis  alleugmicseient &enL[Hlene0 SHTeul ?
a.23 b. 18 c.17 d. 19

If n =10, x= 12 and Zx2= 1530, then calculate the co. efficient

variation.
n=10, x=12 wigd Y x*=1530 aafled IHUT GS CBWmars STaw.
a.15 b.22.5 c. 20 d. 25

If the standard deviation of a data is 3.6 and each value of the data is
divided by 3, then find the new Vairance.

R GBPUILL wFHlyseiear FHL alevdbsd 3.6 DIGHET 616060T OHIILHEHLD
3 L0 UGLULLTED SHlewLSHG YHw alevdsd ealidss FIma?

a.1.44 b.1.2 c. 12 d.9

A wall clock strikes the bell once at 1 o'clock, 2 times at 2 o'clock, 3
times at 3 o'clock and so on How many times will it strike in a
particular day? Find the standard derivation of the number of strikes
the bell make a day.

QM QIO Q@ WSS @B (PMB, 2 WamibE BBLmB, 3 WwiIbhE
PGl (OB GTIBIT®Il, OFHTLAHSH Flwns  euleum(h Lewldb@GHld @6l
LI  eTelled, @(h [BTeMeD 6IHSHEMe  (IPpedB @6V GI(IPLILD?  LOBBID
SuBPlelr HL allevdsLd

a. 156, 3.60 b. 44, 3.45 c.24,69 d. 156, 6.9

The standard deviation of first 21 natural numbers.
WHeo 21 Buied eremigeflelr H L allevdsld
a.1.32 b. 6.95 c. 36.66 d. 6.05

Find the mean and variance of the first 30 natural numbers
WPHe0 30 Buied eTlemIdeTa Sl (BF gFITFM  BBID elvdsalTss  FyTFfl
BTG .

a.15,74.91 b.15.5,73.92 c.13.5,72.91 d. 15.5,74.92

Find the median of first 8 natural numbers?
(1PH60 8 BUIeL 6TenTH6II6 BeDLBIeN6D HT6uIH.
a.4 b. 4.5 c.3.5

,14,5,13,11, 7, 8 find the median.
4,5,13,11, 7, 8 @ouppiesr Qen_mHlenev

6,1
a. 6 b.7 c. 11
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The mean of first ten natural number is
w360 10 Buied etewiderllen gymaif]
a.5.5 b.4.5 c. 6.5

The mean height of 11 students in a group is 150 cm. The heights of the
students are 154 cm, 145 cm, Y cm, Y + 4 cm, 160 cm, 151 cm, 149 cm,
149 cm, 150 cm, 144 cm and 140 cm. Find the value of Y?

am Gwelsd o eter 11 wmewieu  wrewelsefer  gymef 150 G&.L5
SalTaemer o _wyniser 154 .8, 145 GF.18, Y GF.5, Y +4 Og.5, 160
.15, 151 Qg.15, 149 Gz.8, 149 Gz.8, 150 Gz.8, 144 Gz.S, wmpid 140
QF.5 erefled y e oG

a. 151 b. 152 c. 150 d. 153

The mean of first fifteen even numbers is
W& 60 15 @yl ewL LuenL  elewidbefer Fyma

a.4 b. 16 c.5 d. 10

The ages (in years) of 11 cricket players are given below. 25, 36, 39, 38,
40, 36, 25, 25, 38, 26, 36. Find the mode of their ages.

11 ol lupg eifyfler auwgiser wempGuwi 25, 36, 39, 38, 40, 36, 25, 25,
38, 26, 36 aiavlled SleuTHeMeT eUUIH 6T (1pSHH?

a. 36 b. 25 c. 38 d. 25 and 36

The weight of 10 students in (kg) are 35, 42, 40, 38, 25, 32, 29, 45, 20, 24
find the median of thier weight?

10 mewien  omewialsefles elewL &6 (&H.&ymd) (wewpGw 35, 42, 40, 38, 25,
32,29,45,20,24 eafled BenL Hlened HTemidh?

a.32 b.34.5 c.35 d.33.5

In a distribution, the mean and median are 132 and 148 Respectively.
Calculate the mode

@ uyeuede ggmafl wWBLBID SewLBlensv (B 132 oBmId 148  eTefled
Sleupper (ps6?

a. 180 b. 66 c. 129 d. 142

What is the probability that a leap year selected at random will contain
53 Tuesdays?
@ OBLLTeNge0 53 OFeleuTul HIPenDE6T 6l HHLDHH6)
1 3 4
L= d. -
7 7

a. - b.g C
7 7
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In a box contains 20 non defective and some defective bulbs. If the
probability that a bulb selected at random from the box found to be

defective is g then, find the number of defective bulbs.

Q@ Guliguisd 20 @GHBUTYELEITSH aledhGHBEHD, @ v  GHmBUTH
o LW elensGHEHD o eenel.  OULQUId(mHbHaH  Foeumuwil  (wemulled
CxHMHOHBHHBHILGID @ aleNHITaIH  (GMBUTHMLWSTE  SHLILSBHT60T

AN 30 g aTelleL GEMBUT(H 2 WL Ul 6ledh@EH3H6IT60r 6160016801560 S

a.12 b. 10 c.8 d. 14

The probability of getting a job for person is % If the probability of not
getting the job is % then the value of x is

. o . X .
R BUMBDG GCouemev HLLILSBHTR  HBHLDSHH6] . SHHG Ceauensv

S SHBMDD BHLILISBHTE [HBLDHH6) %m@‘ﬂa’), Xeol LGl ?

a.2 b.1 c.3 d.5

In a two children family find the probability that there is atleast one girl
in a family.

Qe GHMSBET 2 6o 9B GBIUSHD, GPBHSB PG G
BHULSBHTRT HBIDHHMAUD  SHT6wIHb.

a. % b. % C. d. None of these

The probability that a student will pass the final examination in both
English and Tamil is 0.5 and the probability of passing neither is 0.1. If
the probability of passing the English examination is 0.75, what is the

probability of passing the Tamil examination?

Q0 WieweaT  @mdHs  Cxitaled oymideod @D SOy  CaHiTEd
CUEBIUSBHTRT HBDHHe 0.5, @amled CHTFH SemLwmosd EHUILSBSHT60T
pawapde 0.1 mdend Caialed CHTFd SmLsugdBETar HHLHHe| 0.75
aeley, HD CxhiTalled BxTeFS OLBIUSBHT [HlHLDHH6) 6160160 ?

b. 2 . 10 a4 B
20 13 20

4| Page APPOLO STUDY CENTRE PH: 044-24339436, 42867555, 9840226187




10

D

5| Page APPOLO STUDY CENTRE PH: 044-24339436, 42867555, 9840226187




